T G B YA : 27] S - [T ofea v 1 e - 15
Total No. of Questions : 27] Co [ Total No. of Printed Pages : 15

231215
o : sraamr steem

Subject : Business Study

9y ;3 g ] _ o - [Tﬁ:moA
Time: 3 Hours] ' | | [ Maximum Marks « 100

N -~ R T AT PR
Note ;- Attempt all questions.
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aﬁsaw‘&a%l

-~ Instruction :- There are three parts of Questlon No 1, Part (A) Multlple cholce
questlon, Part (B) Flll in the blanks and Part (C) True or False, Each

~ question carry 1 mark. | |
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a1 (3N) uﬁﬁmwmq— | [1x5=5]

(A)

0

@

| (b) Selling old television to neighbour

@
(@S - 31)
(Part-A)

Choose and write the éorrect alternative-

fra o @ e st fran @ -
() URFRIFS I

(@) wq@ﬁaﬁwé’eﬁﬁmﬁw -

(W) T i ) o e FHE
(7) T ﬁm%@wﬁmml

- Which of the following activity is a non-economic activity -

(a) Selling bread to customer

- (€) 'Giﬁinglapen toafriend

(i)
N

(d) PurchaSebooks forresale. -

SR 3 FErrh! 4 wfenfa d - |

(9) fraio

(|) »4

(3) faF
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T3

(i)  Whichis includes auxiliries to trade -
(a) Banking
) Manufacturing
(¢} Buying
@ séning

-(ii.i)' @ﬁ@ﬁmﬁﬁmﬁmmﬁmmaﬁm@_
() 1 | |
() '2
(W 3

(R 5

(i) There should be atleast how many members in a Private Limited
: Compahy-

(@ 1
) 2
(c})- 3

d 5
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#

- (¥1) 1932

(F) 1956

: (|) 2008

(iv)

(3 1912,

Indian Partnership Firms are governed by Indian PartnershipAct e

(@ 1932

. (b) 1956

)

(c) 2008

d 1912.
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(5)
(+) Which of the following is a suitable mode for carrying heavy goods in
large quantities over long distances within the country ?
(@) Rail Transport |
(5 RoadTramsport
© Air Transport
@ Water Transport. |
(w—'ul)
(W) N O et
OR s ca e —
(ii) mﬁaﬁaﬁ‘rmﬁvﬁr —————— B—Y
. (iii)‘.ﬁmw@*ﬁﬁ —————————— aﬁagavﬁﬁhﬁﬁﬁaﬁm@m%; -
() mm%ﬁﬁsﬁmma@ﬂmmﬂm |
(v) mmwgarﬂﬁ,ﬁaﬁama?r_———-——_-'--.qg’[|
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(6)
- (Part-B)

(B) Fillintheblanks- | |
(1)  Ocean transport mainly facilitiés .................. ... trade. o]
i) A persoﬁ who sends messages is known as .............. | f
(ii.i) Insuran;:e is'a means of spreading the e -of a few among ;.

many. - | |
(iv) Eusinessmen éarn et _Bc_ecause people buy goods and services I'
forabrice. |
(v) Do not select ajob for which you do not have ....coceeececne... {
(@S - 'F')
‘(!=r) A / v fefag - '_ [1x1o_=1o]‘

(@) o SR AR T e AR |

(i) o T 5 R SR A ) e T

i) o e o o 2 e e o
(iv) éﬁ?ﬁﬁnﬁwﬁmmﬂém‘%l

) wﬁm@ﬁmw%mw@ﬁwaﬁ%l
(vi) mmmﬁmmﬁwaﬂeﬁam%| -
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(i) e e e SR ST |

(ix)

(x)

©
O

@)

(i)

| (iv)

™
(vi)
(vil)
(i)
(ix)
®)

m

Wﬁﬁf@ﬁﬂtﬁ-&ﬁqmmmmmm% |

aaqﬁaﬁmmﬁwmweﬁnean

wqﬁmww%aﬁaﬁWW|

_ (Pat't -C)
Write True or False-
Only rich persons can start a business.
Knowledgelof product is not necessary to make one a good
saleeperson. |
Advertising helps to promote the sales of existing as well as new -

product.

Exchange of goods is easily p0551ble in case of teleshopping.

' Wholesalers require small amount of capltal investment for business.

Sale on hire-purchase permits the buyer to return the goods at any stage.
A ship may be insured against loss by perilsof sea.
Speed Post service is avallable inall Post Offices.

Water tran5port is not affected by adverse weather conditions.

-The basic function of warehousing is to store the goods.
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| (®) -
P9 - Tt 2 W 13 v A et wy ¥ (W w2 97 amstra ¥ |
_ Instrucii'on :- Question No. 2 to 13 are very short answei"typ'e‘ questions. Each
question carries 2 marks.
-2 TR <) ferdrmd fafa | | [1+1=2]
Give any two characteristics of Profession.
U¥T-3 SEmeny ? o 21
What is méant by Industry ? -
W4 THrEErE e, foe o € st e g, Fnwwem 2 [2]
Inwhich form of business organization a single'person owns the business ?
T-5  WEHH wufa s o § 2 S [2]
Whatis the meaning of CooperativeSociety ?

‘ m-é Qﬁaﬁﬁaﬁg2wml 7 - a o . .[1+1=2]

Write any two modes of Transport.
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@

w7 @ﬁm@t%@aﬁqmmﬁmﬁam% 7. B [2]

What is the maximum amount of Rs.wecan send from a smgle money-order
' formf?
w-r—s W%aﬁéawfaﬁm o - [1+1=2]
Wnte any two modes of Comrrmmcataon
ey AR S ? | . (2]
What is meant by Purchase ?
TE-10 wwﬁwm%,mﬁwmaﬁaﬁmmﬁwmﬁmmm
®2 - S, 3

The trade in which bulk quantity of goods are sold totrader s called what?

711 GR-SERFE? | | S (21
Whatis meant by Super-Bazar ?
qv-12 P e A 2 : [2]

What is meant by Sales Promotion?

2314215 PTO.



W—wﬁﬁﬁﬁréﬁrwm‘%? S - [2]

Define the term Career.

Frfor:- Ty s aieh 149 19 % FEEORTEE mﬁmmws :«mamﬁﬁl

Instruction :- Question No. 14 to 19 are short answer type questions.'Each question

carries 3 marks.
- WH-14 TE U g ? ' R , - [3]
W]__Jat 1SA.TM.?

b

w15 Wﬁaﬁﬁﬁmﬁm}(ﬁ?ﬁ?) N [14141-3]

Write characteristics of Retailer. (any three)
WH-16 GheUHE F fF afver fafan [1+1+1=3]

- Write any three rights of a Consumer,

UT-17 STfEmEE e 7 | | [3]

What is meant by Consumer Protection ?
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i
YTA-18 e e ERISHTR 3 34 | 2 [13+11=3]
What is'meant by Wage employment and Self employment ?

mﬁ-ﬁa m%—vfﬁréﬁﬂwﬁml' [1+141=31 |

Write any three features of an Entfe_preneur.
P e T 20 & 23 T TSRS W § | el W U 4 3ih Sraifed €|

| mefrii e R
Instrdc_tion :- Question No. 20 to 23 are shdrf answer type questions. Each question

carries 4 njar_ks'. Each questions has an option.

-20 §- AR R RAREHR [4]
| Dgﬁne'E-Commerce. -
| (0R)
=Jerar & <) anfde seva fafam) l_[2+2=4]
Enui;ler:;ltg any two economic obj ectives of Business.
PTO.
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. S .‘(12) ' N
il Wﬁﬂiwm&mml | EE | [14141+1=4]
Write.an-y four chagc.teﬂsﬁcs of Partnership. | o
(o)
(OR )
| meﬁr‘éﬁnmw|

- Explainany four adVantageé:ef Multinational Cempany.-

- mwzz'ﬁ—ﬂaqﬁaﬁ#?nmaa‘mmqf [++1+1+1=4]

‘Write any fourmodes of Land Transport.
( 3reran )
(OR)

G e veTs e ferdreard fafa

Write any four characteristics of an Ideal Warehouse.

WP-23 Ao H A F v e (R AR [1+1+1+1=4]

-

Give any four points highlighting importance of Communication in business.
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(13
( 3rear)
(oR) o
) ﬁﬁﬁ@ﬁmaﬁtﬁwml(ﬁW) [4] ‘

Distinguish between Money-order and Postal-order. (any four)

P T e 24 25 Al T 1 Y 3k e ¥ 1

Instruction i Question No. 24 and 25 are long snswer type questions. Each

| questioil carries 5 marks. Each question have an internal option.

w-24 aﬁmmﬂm@f%? B [1+1+1+1+1=5]
Why is Tnsurance considered importani?
| o
(OR)
%@ﬁwﬁwmﬁmm@h) -
Distinguish between banks and money lender. (any five)
P.T.0.
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(14)

- We-25 famit soeR wE gR- A A SRR AR [1x5=5]
Distinguish between Departmental Store and Super-Bazar.

( 37T )

_(or)

| T PRSI A T T TR € ? 5 A e R 1 (241+141-5)

What is meant by Internet retailing ? Write any three advantages of it.

T -y i 26 TE 27 ﬁdﬁ'ﬂum‘é lwaaimm'is» 3ok amafrat |ﬁ‘$
v s PR I

Instruction :- Question No. 26 and 27 are long' answer type questions. Each

question carries 6 marks. Each question have an internal option.
Uy-26 TR0 o TNeAm o o 72 € 7 1S AR ATeAm o AW fofau
[2+1+1+1+1=6]

What is meant by media of advertisement ? Write 'any four media of

advertisement. |
( 37erqr) -

(OR)
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(15)

| Wwﬁﬁmﬂ%ﬁﬁﬁﬂm(aﬁ@:)-

State the importance of SaleslPromotion. (any 6)

m—z'i m\mma@aa m%aaﬁﬁﬁr@m

- ‘Whati is Consumer 9 Write two respon51b111tles of Consumer

( 37eF=T )
(OR)

wmﬁﬁmﬁaﬁm% ? [1+1+1+1+1+1=6]

| Why should consumers be protected ?

[2+2+2=6]
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